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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2012 

ELECTIVE COURSE : COMMERCE 

ECO-2 : ACCOUNTANCY-I 

Time : 2 Hours 	 Maximum Marks : 50 

Note : Attempt any four questions, including question no.1 

which is compulsory. 

	

1. 	Answer any two of the following : 	 7+7 

(a) What is Business Entity Concept ? Explain 
its accounting implications with examples. 

(b) Define 'Accounting'. Explain any three 
functions of accounting. 

(c) What is Bank Reconciliation Statement ? 
State any five causes that lead to 
disagreement in the balances of cash book 
and pass book. 

(d) Define depreciation. Explain the objectives 
of providing depreciation. 

	

2. 	(a) Distinguish between Sales and 6+6 
Consignment. 

(b) What is a Joint Venture ? Explain the 
essentials features of a joint venture. 
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3. (a)  What is meant by Self-Balancing System ? 6+6 
State its advantages. 

(b)  What is single entry system ? Discuss the 

drawbacks of single entry system of 

accounting. 

4. (a) Give journal entries for any three the 

following adjustments. 
6+6 

(i) Outstanding Rent Rs. 4,000. 

(ii) Loss of goods by fire Rs. 6,000. 

(iii) Proprietor withdrew Rs. 5,000 for 

personal use. 

(iv) Commission received in advance 

Rs. 10,000. 

(v) Provision for discount on debtors 
Rs. 1,000. 

(vi) Interest on capital Rs. 5,000. 

(b) Distinguish between Capital and Revenue 

Expenditure with suitable examples. 

5. 	Rectify the following accounting errors : 	12 
(a) Machine purchased for Rs. 10,000 has been 

debited to purchases account. 

(b) Rs. 3,000 being the sale proceeds of old 

furniture has been credited to sales account. 
(c) Goods purchased from Sanjay for Rs.4,000 

was recorded in purchase book as Rs. 400. 
(d) Rs. 5,000 paid to Anil for salary were debited 

to his personal account. 
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Rs. 1,000 paid for cartage for the newly 
purchased machine has been debited to 

cartage account. 

Rs. 5,000 received from 'Ram' has been 

credited to 'Shyam' account. 

Explain briefly the various types of reserves 

with examples. 

Receipts and payment Account of a sports 6+6 

club showed that Rs 50,000 were received 
by way of subscription for the year ended 
31.12.2010. The additional information was 

as follows : 

(i) Subscription outstanding on 

31.12.2009 were Rs. 5000. 

(ii) Subscription received in advance on 

31.12.2009 were Rs. 3000. 

(iii) Subscription outstanding on 

31.12.2010 were Rs. 10,000. 

(iv) Subscription received in advance on 

31.12.2010 were Rs. 6,000. 

Show how above information would 
appear in the final accounts for the 

year ended 31st December 2010 of 

Sports Club. 
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